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Q.1

A FYRRBT Sem~7  z0[11172217
C0331/C0552 FINANCIAL ACCOUNTING |
Q.P. Code : C0326
[Time: 2% Hours] : [Marks:75]
Please check whether you have got the right question paper.
N.B:  _1. Question.No.1is compulsory.
2. Q.2to Q.5 having internal options.
3. Figure to right indicate full marks.
4. State your assumptions clearly.
Multiple choice questions (any eight). - ; _ (08)
is a bound hook of all accounts.
a) subsidiary Book b) Trial Balance ¢) Journal d) Ledger
Small expenses of daily routine business are recorded in :
a) Pass book b) Petty Cash book } Debit note d\ purchase book
Concept a basic idea that business is separate from the owner.
a) Dual aspect b) Materiality c) Entity d) Going concern
Cash Sales are recorded in book. ' _
a) Sales book b) Cash book c) Journal Proper d) Sales Return book
Accounting Standard 2 deals with
a) Valuation of inventories b} Income recognition c) Depreciation d)Fixed assets
In Hire purchasé‘System ‘the title to the goods remains with the till the last instalment.
a) Vendor - -b) Purchaser ¢} Bank d) None of above
Debit note\'ls prepa. edin__~  book. -
a) Purchase -~ “b) Purchase return c) Sales d) Sales Return
Under the earliest purchases are issued for production.
a)LIFO . b)FIFO " - ¢) WAM d) WDV
A person is consadered as insolvent when his liabilities are than his assets.
a) More - }\Equal _ . c)Less ~ - d)Too less -
s the offlcral body in India that issue accounting standards from time to time.
a) ICAI 4 b) RBI c)SEBI  d)IsO
Match the followmg [any seven} : (07)
~ ColumnA o Column B
|| 1. Personal Account | a. Depreciation of Accounting
2. Nominal Account .~~~ | b. Overdraft
| 3.RealAccount c. Machinery
|4 Credit balance in Cash Book | d. Continuation of business §
; | 5. Purchase Returns - e. Returns Inward
- »|-6.Matching concept f. Returns outward
| 7. Sales Returris g. Cost match with revenue
8. AS-01 " : h. Disclosure of all policies
| 9. AS-06 - i. Commission
iO._G@tng’ancern Concept j. Bank of Baroda
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C0331 /C05352 FINANCIAL ACCOUNTING |

Q.P. Code : 00326

Q.2 a) Journalise the fellowing transactions in the books of Rohan (07)
01** Oct. 2015 — Rohan started business with cash Rs.50,000 and bank balance of Rs. 35,000
02" Oct. 2015 — Purchased goods from Amit costing Rs.45,000 on 10% trade discount
05" Oct. 2015 — Purchased goods on cash worth Rs.25,000
15" Oct. 2015 — Sold goods to Anil for Rs.20,000°
20™ Oct. 2015 — Sold goods worth Rs.25,000
25% Oct. 2015 - Received a cheque from Anil in full settlement of the transaction
30" Oct. 2015 — Paid 500 as rent of office

b) Following information is extracted from the books of M/s Shamsunder. Prepare Trail. Ba!ance for the year (08)
ended 31 March 2016.

Particulars Rs. | Particulars Rs.

Capital ' 1,00,000 | Opening Stock 15,000

Debtors | 20,000 | Creditors 20,000

Fixed Assets 92,000 | Purchase ' 70,000

Sales 1,10,000 | Returns Inward ]i 2,000

Returns Qutward. 1,000 | Wages and Saiaries ' 30,000

Bills Payable ' 8,000 | Bills Receivable 15,000

Bank Overdraft s 11,000 | Rent 6,000 |

~oR
Q.2 a) State giving reasons, whether you will consider the followmg items as Capital Revenue or Deferred (08)

-~ 1. Rs. 3,500 paid as Installatlon charger for newly purchased machinery.
2. Rs. 500 received as interest on Investement.

~ 3. Company made sale of goods amuuntmg Rs 3,00,000

P Heavy advertisement expenses made for launching a new product.

_v he Pass Book of Mahendra ShDWS a deblt balance of Rs.6, 700 on 31 12-2013. Prepare Bank (07)

: 2 A cheqqe_pf Rs. 550 is recorded in the Cash book but not sent to bank for collection.
3. A debtor has directly deposited Rs.350 in the bank account.
4. Cheque issued amounting to Rs.2000 were presented to Bank in January 2014.
5. Cheque deposited amounting to Rs.1,00C were collected by the bank in January 2014.
~ 6. Bank had debited Rs.200 for interest on overdraft and Rs.75 for charges
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Q.3

Qs

Q.4

a)

C0331 /C0552 FINANCIAL ACCOUNTING |

Q.P. Code : 00326

On 1% April, 2011 SFD & Co. Purchased 2 Projector from HMT Co on Hire purchase. The Cash Price of the (15)
projector was Rs. 2,50,000. The Fayment was to be made of Rs.50,000 on the date of 2greement and the
balance in 4 annual instalments of Rs. 50,000 plus interest at 5 percent per annum. Depreciation @ 10%
p.2 is to be written off on W.D.V Basis
You are required to prepars,

a) A statement showing calculation of interest

b) Projector Account

¢) Vendor company’s account

OR ; S5
From the following information relating to Product M Value cIosing stockon 31-12-2012 applying (15)
a.FIFO  b. Weighted Average Method - i INSEN '

Stock (kgs) on 01-12-2012 5000 unlts @ Rs. 14

Purchases (kgs) .
18-12-2012 --- 4200 units @ Re13
22-12-2012 - 3800 units @ Rs.9

Sales (kgs) ; IR
07-12-2012 --- 1200 units . - e
16-12-2012 --- 2600 unlts_ Frey
19-12-2012 --- lﬂﬂﬂumi‘f ¥

31-12- 2012 '200 umts

Prepare {\._’_lanufal:t_u(irfg.Acc‘oun_t_fqr.tHe year ended 31* March 2015, (07)

| Purchase of materials - ._ 2,20,000

| Freight On Purchases*clf raw matenal 500
Direct wages T AT T AV T : 50,000

| Factoryrent NS 7,500
Factory power =~ > ' 8,500
Returnloward =~ 25,000

_ Return Outward T G o 20,000
SRS 5,75,000

| Depreci '_,jomari Plant“ N 11,500
' Depreciation on Deh\few van 7250
Royalties paid- ‘on Production 350
Stock of Raw mata(tal as on 1% April 2014 54,000
Work in progress@gon 1* April 2014 57,000
Stock of Raw materials as on 31 March 2014 46,000
Work in progress as on 31% March 2015 23,000
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Q4.

C0331/C0552 FINANCIAL ACCOUNTING ]

Q.P. Code : 00326

b]  Pass the necessary adjusting entries in respect of the close of the year before tinalizing tha annual (07)
cocounts on 31.12.2014

i) Closing Stock was valued at Rs.2,20,000
ii) Depreciation on Building and Plant of Rs.15, 000, Rs.9500 respectively.
i) Goods worth Rs 2000 were distributed as free samples
iv) Proprietor took Goods of Rs.2500 for his personal use.
v) Incurance premiurn of Rs.7700 was Prepaid.
vi) Salaries and Rent of Rs.40, 000 and Rs.18, D00 respectively were outstanding at the year eend,
vii) Provision for Doubtful Debts is to be made @ 4% on the debtors of Rs.80,000
OR

LY

From the given Trial Balance of Chris prepare Manufacturing, Trading and Profit and Loss Account for the (15)
year ended 31* December, 2013 and Balance Shest as at that date.

Amt Amt
Operiing Stock: : |’
- Raw Materials 24,000
- WIP S | 14,000 f
- Finished Goods 40,000
Purchase of Raw Materials 1,94,000
Octroi on Raw Materials : e 22,000
Direct Wages s SRR -1,14,000
FactoryRent = = . ; : 214,000 .
Other Direct Expenses ~ - . ' Ll 24,000
Indirect Wages .~~~ ' | FEE 16,000
Machifery D -2 < < o o o~ AT 1,20,000
Cash at Bank Koo : 24,000
i IR S A i) 6,20,000
Administrative expenses 62,000
| Selling Expenses = > o 26,000
RGO & e s 50,000
Interest RN 14,000
DiscouncAllowed - - 8,000
# | Bad'debts : 2,000
| Provisionfor Bad debts~ - 6,000
. [sundrydebtors & 1,00,000
- | Drawings " = . 42,000
YECADIELS 2N 0 1,70,000
Bills Payable 14,000
ABEF 8,60,000 8,60,000
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C0331/C0552 FINANCIAL ACCOUNTING |

Q.P. Cede : 00326

Adjustment:
1. Closing Stock was

Raw Materials Rs.16,000;
Finished Goods Rs.20,000
WIP Rs.8,000.
2. Outstanding Direct Wages at the end were Rs.2,000.
3. Other Direct Expenses were prepaid to the extent of Rs.1,000.
4. Depreciate machinery @ 10%p.a.
5. Maintain provision for bad debts @5% of Sundry Debtors.

Defme the term Accountmg and explam the Pr:nap!es of acoountmg

OR
Write Short Note (Any three).
1. Sales Return Book
2. IFRS 57
3. Accounting Standard 10
4. Revenue Rece:p*s
5. Internai Voucher

224A21DED38A9C689D227C21B4F24740
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C0331/C0553 PRINCIPLES OF MANAGEMENT. = | [! [ ff,_?_w.;,"'t/

Q.P. Code : 22503

[Time: 2:30 Hours] [ Marks.75 ]

Please check whether you have got the right question paper.
N.B : All questions are compulsory.

Q.1 A) Fill in the blanks ( Any eight) 08
1) Father of Principles of Management is --------— N ;
a) Henry Fayol
b) F.W.Taylor
c) Peter Drucker
d) F.Washington

2) Management principles are ----=--==-==--- -
a) Applicable to commercial orgamzatlou only
b) Universally applicable
c) Notrelevant
d) Not practical

3) Planning is -------- SRt proces
a) Rigid
b) Mechanical
c) Mental.
- d) Virtual

4) Contemporary management IS —=mmmmmemmoene e -
a) Crisis - LU
b) Conservatlve N

2EX ‘Progressive

.."'___-_d_)\ Engineering

e -—--=- started hls career serving the ICICI bank in the finance division project.
Py Rl g’ Dr.CK. Pra]had :
SE S by MK Kamath -
© . €)~Mr.Azim Premu
-d) Ml Anil Ambam
- 6) Comm:ttee orgamzatlonfacﬂltates judgement,
- a) Individual :
Yot PR Gmup
T 0] legld
mady Anyt.me

7) Formal organization are ---------------- :
-a) Static
b) Non performing

) Delegated

cl) Created
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Q.2
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C0331/C0553 PRINCIPLES OF MANAGEMENT.

Q.P. Code : 22503

8) Departmentation by function is suitable to -------------e----- organization.

b)
9
d)

Small
Domestic
Medium
Large

9) Present managing director of International monetary find is -==---=-=-=-n--oo- :

a)
b)

jim Yonrg Kim
Christine Lagarde

¢) Takehilio Nakao

dj

Janet L. Yellen

10)Delegation is transfer of certain -------e==z-nzunaee ;

a)
b)
)
d)

Accountability
Responsibilities
Documents
Finance

b) State whether following statements are true or false (any seven)

a)
b)
c)
d)
e)
f)
g)

h)
i)
)

Management is a continuous process.

Taylor introduced the concept of MBO

Direction is the action element in business.

Formal and informal organizations are same.

Matrix organization structure is very easy to manage

Staffing i improves ]ab sansfar:tlon and morale

Mr. Deepak Parekh is a known personality in the field of housing finance
World bank pro\nded more funds to developed countries and less to poor
countries

Godrej is a consumer frlend]y group

Organization ensures optimum utilization of resources.

a) Define.,ﬁrofess'ion; [s maﬁ_ﬁé@ment'a profe#s’idn?
b) Explain the distinctive_g_on_tr.i_byfjo.ns of EW. Taylor

OR

' c]Dlscuss the concept management. Explain its features.
d) Explain budgeting and reporting as functions of management.

h-a’];_.'What are the functions of management in insurance companies?
o b] DlsCuss the 1mp0rtance of controlling in management.

OR

c) Exp]_am“the-pla‘nning function of management in a banking organization.

-~ d) Whatis organization structure? Explain its importance.

Page 2 of 3
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Q.4

Q.5

C0331/C0553 PRINCIPLES OF MANAGEMENT.

Q.P. Code : 22503

a) Distinguish between Formal ana Informal organization.

b) Explain the contributions of JRD Tata in Indian industriss.
OR

c) Discuss the types of structure followed by banks

d) Write briefly about Federal Reserve Bank and its president

Write short notes on the following (Any three)
1) Contemporary management
2) Motivating bank emnloyees
3) Chanda Kochhar
4] Directing
5) Management as a process

skokok sk skok ook sk sk ok sk okok ok ok Kok ok ok ok
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Q.P. Code :19660
[Time: 2% hours | [ Marks: 75 ]

Please check whether you have got the right question paner.
N.B: All questions are compulsory subject to internal choice.

.

Q.1 A) Fill in the blanks with correct alternative:- (any 8) (8)
1) insurance forms the lifeline of several commerce and trade activities.
(Life, Medical, General, Marine)

2) is a financial arrangement that redlstnhutes the cost of unexpected losses.
(Insurance, Bank, Financial Institutions, FmanCIa] \/Iarkctmg) e

3) The minimum requirement as per Ac. for CRR is
(2%, 3%, 4%, 5%) -

4) The SLR cannot be less than
(20%, 25%, 30%, 35%)

N S A ey E
v

5) Risk control focuses on the: msk of loss’ to which the firm is expected and includes the
Techniques of risk avoidance and reduction.
(Maximizing, Mlmmxzmg, Equahzmg, Nulhfymg)

6) The Indian Banklng System is regulated by.
(RBI Act 1934, Banlgmg Regulattons Act-1949, Minister Of Finance, Both RBI Act
1934 and Bankmg Regulatlons Act 1949)
m\
7 Operatlonai ﬁsk is the nsk of Ioss arising from various types of
(Human errors; Fatled system and procedures in bank, Breakdown in Internal controls,
All ef these) XS :

8) _-.One ef themain ob_]ectlves of ALM is to eentrol _ risk.

(quutdi' ty, Market, Busmess Interest rete)
=)~ RBLwas estabhshed in the M edr
- ,5-.-.(19\35 1930 1933, 4935)

10) The ﬁrst msu,r&nce comp any was starfed in India in 1818 at
(Kolkata Ché)nna; Mumﬁai ]ﬁelh})

- Q l B) Sta'te wheﬁter the £ollowmg statements are true or false :- (Any 7) 7
: :Cheque is not a negotiable instrument.

e RﬁP”ay is aDelnt card issued by the National Payment Corporation Of India.
R 111) S 'fﬁsurance is viewed as one of the income tax saving device

~iv) - ‘Primary \_ob jective of cooperative banks is profit marking.

V) iperial bank of India is known as RBI today.

Page 1 0f 2
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Q.P. Code :19660

vi) Risk reduction is not possible in insurance sector.
vii)  Credit risk is the primary challenges for banks.
viii)  Third pillar talks about the market discipline.

x) NPA stands for Non- Performing Asset.

X) RBI is apex financial institution.

Q.2 a) Define Financial Service. Explain Fund Based Financial services. (8)
b) What is Insurance and explain its objectives. : WL W)

OR
Q.2 ¢) What are Commercial Banks? Explain functions of commercial Banks. 3 0 (8)
d) What is a bank? What is need for Banks? : : (7
Q.3 a) Explain Non- Fund Based activities and services of the banks. (8)
b) Explain the role of RBI. 7

OR
Q.3 ¢) What are the fundamental principles of insurance? (8)
d) Explain the role of insurance? (7)
Q.4 a) Explain any Two sections of Banking Regulation Act, 1949. _ (8)
b) Explain all the three pillars of Basel I Accord. ; 7

: OR - - ' \

Q.4 ¢) Write down the recommendations of Narasimham committee” .~ (8)

d) Briefly explain the organization structure and managcment system of insurance companies, (7

Q.5) a) Explain the developmem functmns‘of RBI. . o '_ ) (8)
b) What are the poWers and- funcnons of IRDA@ v (7)
Q.5) Write Short Notes on (Any Sﬂiree) : (15)
i) ALM - %

.,
)

i)~ Riskin Bankm'* orgamzatton
T i) BancaSSurance~ .

~iv) . NPA
S 5 Credit Card S

Uk Rk R KR AR R R ok ook ko

Page 2 of 2
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L/ ; C Q. P. Code: 24639 e

(Time: 2 % Hours) (Total Marks: 75)

Please check that you have the Correct Question Paper
N.B.: All questions are compulsory

Q.1. (A) Match the Columns (Any Eight;: ' 2 | (8)
1. 'C’ Of Communication A. Facial Express:ons :
2. Proxemics B. D|stance .
3. Kinesics C‘ Court-esy
4. Physical Barrier D. Nearness o
5. General Agreement g Language Barrler
6. Homonyms “F Jargon ;
7. Salutation : G_.Sa_fes“Obje_ctiye .; '_.: ;
8. Persuasion _ o 5, :
9. Posters .Z': . & DearSir/MadamJ".

~ 10. TechnrcalTermmology 15 Consensus

(B) State whetﬁerthefoligwrng s'tatements_ are True or False (Any Seven): (7)

1. In a Ietter the s:gnature |s posrtroned below the sender’s name.
,Grapevrne is a forma! pnmary channel of communlcatlon
,Oral comm unrcatron fS necessanly only face~to=face.

.\-__-__--Sr!ence is. not a means of cemmumcatlan

.:-Hrgh morale boosts workpl‘ace performance

P 10 \The InSLde Address !s a tompu! ory part of a Business Letter.

P.T.0.
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Q. P. Code: 24639

1. {A) List the rules for effective Listening.

(7)
(B) Elzborate on the importance of Feedback in communication. (8)
Or
(C) Elaborate on the importance of Bedy Language in communication. (7)

(D) List and explain the advantages and disadvanta

ges of Horizontal Communication (8)
in an organization.

llI. (A) List and explain the advantages, disadvantéges and common patterns of (15)
Grapevine Communication.

Or
(B) Explain the term Business Ethics with special reference to Surrogate

(15)
Advertising.
IV. (A) Draft a Letter of Application with Curriculem Vitae for the post of 2 Senior (10)
Clerk with Proconnect Productions Pvi. Lid., Andheri West, Mumbai. Use the
Full Block format.
(B) Ms. Mehvish Shah hastsen offered the post of a Senior Accountant with (05)
Synergy Productions Pvt. Ltd., Bandra West, Mumbai. Draft a Letter of Joh
Acceptance on her behg’!f; Use the-Modifie_g Block format, -
Oor
(C) Draft a Letter of Application with .Curricuiu_m:\v_ifae;__fc')r the post of Senior (10)
Manaéer.at'Sophya Films Pvt. Ltd., Lower Parel, Mumbai. Use the Complete
(D) Ms Madhavi Singh 'ha"s:"bé'en working as Senior Accountant with (05)
Rajeshwari Industries, Nashik since the last seven years and would now like
to resign from her post to seek a better career opportunity. Draft a Letter of
_Resignation on her behalf. Use the Semi Block layout,
gr" ':thés' _oq.thg'f_f‘_g_i!qwi ng (Any Three): : (15)

porat __fSE,')_‘c_'i_'a-'i:F{'{és‘ioansibilityr

), "'--Schi"Q;-c-_'lJIty_ra__I" Barriers to Communication

3. ‘\'_'ojﬂ:}.qﬁttit:ude.'

The Advantages and Disadvantages of the Internet
5. Personal Integrity as a Business Ethic

Page 2 of 2

9C03SEE614896FSB498AFEmr.qru 18D~



Q.2

Qs

Q4

Q.5

Q.P. Code :22472

B) State whether the following statements are true or false. (Any seven)
i) The founder of Sikhism is Gury Govind Singh.
i) Eve teasing is a social violence against women
iii) In India, the states are formed mostly on the basis of language.

iv) Glaucoma can be detected during pregnancy.

v) Communalism is opposed to secularism.

vi) Regionalism can cause inter — state tension and confrontation,

vii) The Fundamental Duties in Indian Constitution are justiciable in nature.

viii) The Indian constitution is the shortest written constitution of the world.

ix) The existence of political parties is not an essential requirement of a democratic country,
X) The Constitution of India confers single citizenship,

Explain the regional variation in India according to rural and urban characteristics.
Discuss various types of violence against women in Indian society.

Define ‘Communalism’. Discuss the features of communal conflict in India.
| OR
What is Regionalism? What are the causes for growth of Regionalism?

Discuss in brief salient features of the Indian constitution,
2 fid OR
Discuss the Fundamental Duties of Indian Citizen enshrined in the Indian Constitution.

What are the challenges to women’s political participation in India? Suggest measures to overcome the
challenges, = '
S ' . OR
Write short note on (Any three) =~
- India as a multicultural society.
e ”_]pe_quélf_t';ies-_.aga'-irist people with physical disabilities

iii) - Caste conflicts in India. -
iv) The Preamble to the Indian constitution.
v) The Regional political parties in India.

P

Page 2 of 5
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Q1

N.B:

Q.P. Code :22472

[Time: 2:30Hours]

Please check whether you have got the right question paper.
1. All questions are compulsory.
2. Figures to the right indicate full marks.

A) Choose the correct alternative. (any eight)

i)

i)
ii)
iv)
v)
vi)
vii)
vii)

- ix)

"

-------------- is the holy book of the Christians.
a) Bible b)Quran c)Torah

Indian society is —————— in nature,
a) a)Tribal b)Urban c)Pluralistic

The traditional Hindu society was divided intg -—-——-—-— varnas.
a) Three b)Four c)Six

Dowry harassment is a type of --—--—-- violence agzinst women.
a) Social b)Sexual c)Domestic

----------------- is a serious form of conjunctivitis.
a) Astigmation b)Glaucoma c)Trachoma

Anti — Hindi agitations took place in ---=---———-= India.

~a) N'orthern":,b}§0u_thern c}Western

~--see-oe-eo-- arises out of religious fundamentalism.
a) Communalism b)Casteism c)Secularism

Thie word S-ssscicicaie envisages the goal of a welfare state,
a) Sovereign b)Seculer c)Socialist.

Indian constitution has adopted ------------- Democracy.
a) Parliamentary b)Presidential c)Direct

-—-=-=—---- is the head of the Gram panchayat.

~a) President c¢)Mayor c)Sarpanch

Page 1 of 5
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Y
Q.P. Code :00070
[Time: 2% Hours] [ Marks:75]
N.B: 1. Figures to the right indicate marks
2. Graphs to be provided wherever needed.
Q.1 (A) Choose the correct answers: (any 8) : R e 8
1) IfAand A are complementary events then P (A)= s
(a) 1+p(A) (b)-P(A) (c)1-P(A)
2 We use regret table for calculating -~---------
(a) EOL (b) EMV  (c) Maxim ax
3 The formula for Laspeyre’s index number is Loy = "X 100
XP1qo XPiGo . XP1G1 -
(a) (b) c :
Xp1 4o 2Poq, Epofh A ;
4  Cost of Living Index numbers is also’ known as —--------——Index Number
(a) Value (b) Consumer’s Price (c) Wholesale SIS SIS
5 The difference between the upper limit and lower limit of a class is called —escwcoeer—r of class
(a) Class mark (b) Class width (c) none of these
& Mode is ----------- value .
(a) Least frequent (b) Middle most =~ (c) Most frequent
7 Ifvariance of a datais 4, then its standard deviation is ~<-------- S
(@) 2 (b)4 - (¢)5 .
8 The correlation coefficient is unaffected by change of ----—---
(a) origin_~ (b} Scale (c) origin & scale
9 Coefficient of correlation lies between ------------
(a) -1and+1 (b)-zand+2 (c)u and 1.
10 Rangeis determmed only by ==~ points in a data set.
(a) Two “(b) Three (c] One _ '
Q.1 (B) State whether True ‘or False o2 _J{any 7) 7

Mean deviation is a relatwe meagure ofdlspersmn
Variance is always posrtwe )
Probability of an event cannot be zero '

-The algebralc sum of the; dewatlun ef a frequencv distribution from its mean is always zero.

Therecan be more than one mﬂda{\ialue in a frequency distribution.
classs frequency

- width of class

~ Diagrams & graphs are pu:tohaF representatmn of tabular data which is easily understood by a common
man -

8 Index number for the base year is always 100.

9 Ifaninsurance premium IS not paid within the grace period, the policy lapses

10 The tabulated rate of annual premium is calculated per Rs. 10,000.

Frequency dens:t\, of E class mterval

NG B ), R -




Q.2 (A) Calculate Quartile deviation.

Q.P. Code :00070

| Weekly wages:

0-20

20-30

30-40

40-50

50-100

| No. of Workers:

40

39

39

30

45

(B) Calculate the standard deviation of the height of 8 children.
Height in cm - 90, 94, 95, 97, 100, 103, 105, 108

(C) Calculate co-efficient of correlation between Index of demand and Index of pr:ce. A

OR

Index of 101 108 105 107
demand : 2
Index of price | 117 | o8 102 118 110

Calculate co-efficient of rank correlation between marks in Mathematics and m'a'r_lgs in English:

(D)
Marks in 40 45 65 iso 507 X J'58
English | | oL
Marks in 90 70 180 | 50 802 s
Mathematics f ! T N SIS
Q.3 Solve:

(A) Abag contains 7 white balls, 5 black balls and 4 red balls. If two balls are drawn at random from the bag,

find the probability that {l) both the balls are white; (i} one is black and the other is red.

(B) In a Pizza hut the foilowmg dlstrlbution is found for the daily demand of pizza find the expected daily
demand & also th\e\yar;iance

No.of Pizza - |5 = . = K K - 7 8 E 10
Probability > [ 0.07 ~ & S 102 & 10.3° 0.3 | 0.07 0.06
B : PO JoR ;

(C) Find index number using weighted average of relative method:
Commodities P SR - - Price Quantity Consumed 1980
SESL IS SR A 088 1990 |
e EE : s

B 15 2

SRS 2 4 5

4 3

_:(D) Cafculate Laspeyre s and Paasche s: mdex number from the following data for the year 1995 with base

1990
Price Quantity
1990 1995 1990 1995
_ 10 12 20 22
’, 13 13 23 24
2, 16 18 20 18
20 18 5 6
18 20 Fi 8

~I

o

~J
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= Dr=w less than cumulative frequency curve and find the median for the following data:

Age in year 10-14 14-18 18-22 12226 26-30 |
No.of Insurance | 10 13 15 30 20
policy holder ; . ’

(B} Draw a frequency Polygon and frequency curve for the following distribution:

Class- 100-150 | 150-200 | 200-250 | 250-300. | 300-350 | 350-400 1
Interval S RS R ey
| Frequency | 15 22 30 & A T N S TSR
. OR e ' :
(C) Calculate mode of the following set p?déta: 3
Class- 10-20 | 20-30 | 30-40 |40-50 [50-60 - [60-70 _ | 70-80
interval N e e ;
Frequency | 24 4’2_-.; ~ls6° |66 108 130 154

(D) For a person 50 years of age The tabuiated annual premium for an endowment policy for 20 year is
Rs.50.70 per thousand A person wants to buy a poltcy with sum assured Rs. 3,00,000 and pay premium
every month. The company adds extra 5% on the tabulated premium for the monthly payment but offer a
reduction of Rs. 2 per thousand for a pol:cy with sum assured more than Rs.1,00,000, find the net monthly
premium that the perscn has to pay
Q.5 (A) Whatis anr;tlle Dewatmn? State |ts mersts & demerlts g
(B) Explam't\}' es o‘f'correlanon _ Vet
; Y : “0R>
Wnte short notses on: {anv 3) -
(A) Merits of Ar:thmettc mean.
(B) D|fferent types of agwes g
(C) Define F
|)Probabrflty of an event P
:s)CompIemeptary Events s O S
(D} indax: Numbers f Agrrcultura[ Productlcmf'
{E) PaLd up Va ; :

Q.5
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[ Marks:75]

[Time: 2% Hours]

Please check whether you have got the right question paper.
1. All Questions are compulsory.
<. Figures to right indicate full maris.
3. Draw diagrams wherever necessary

-'.“.E:

b

Q.1 3) State whether the following statements are True or False. (Any Eight) ; (08)
Microeconomics deals with the analysis of national income. Sl I S
Extension and contraction can be shown ori the same demand curve. _

| Regression method forecasts demand accurately, 2
Cross elasticity of demand for substitutes is positive. . . SRS o

A technically efficient- production funct_iqﬁ_iﬁq?gat,es absenze of "\_;a:;t"éi'g‘ef;' f resources. ™
External economies may occur due to division .b\ﬁ:[aitgo‘q"r. G B \ wa
') Demand curve of a monopolist is sloping upward from left to right.
&) Priceis very flexible in oligopoly, " " a & i gl

g) Dumping is known as internation'a]_;p'r;ice_ dis‘crjmfha-t;'_;j'n. :

) _
10) Full cost pricing method has certain limitation.

LV N

s

I &

~

b} Match the following (Any Sé__\'fg?n) (07)

e

?} Group A : ot Group B
1) Equations NNy a) Shut down point

2) Negative income effect S b) Substitutes
| 3) Demand forecasting - - - S s |-c) External €conornies
L4} Positive_crogg:.é‘la'éiiici_ty b-fldém_qr;‘d- I d) Mathematically express functions
]5} Iso-cost line - Y e) Prof. Paul Sweezy
6) Localisation economies f) Inferior goods !
NNEHIR S 0500 | 8) Determined by govt
8) kinked emandcurve o ey 2 S EhSurvey method
9')'A'd‘m_flji_si:;éted-'}_”r_i?_':ing-- e i :_J' -~ |4) Cost incurred on additional unit

j =R : k) Hall and Hitch
) Complementary

2:3) Explain th e different type

come elasticity of demand. (08)

Sy :D'ESi:'ribé___ in detail the différ;érfi.t methods of demand forecasting. (e7)

OR




¢) The demand function for commodi ity wheat is given by Qg,,=100-5

in below table. -

QP COdE ‘00784 .L

Price of wheat (Rs.)

Cluantity demanded (kg}

(RN

8

Answer the following questions:-

1) Calculate quantity of demand for wheat at glven prlc Sy
2} With the help of above demand Schedule draw the d mand'curve

3) Calcuiate price elasticity of demand when prrce changes from Rs: 4 to Rs 8

d) Explain the relationship between 4R and MR curves under monqpq'_ly‘___-"__ = RS

Q.3 a) Discuss the laws of returns to scaIe_in detzil.”

b) Explain the various types of external economles “of scale

c) GivenTFCas Rs 150, Calculate T€, ATC, AFCand MC from the mformatlon gwen below.

Fn Its

[Tve-

1160

230

d)

Q.4 a)j

d). \What]s pruce leadershqp? EXp!al ___he tynes of pnce leadershup

2) Facters affectmg demand
3) Promotlonal elastmty of demand
v Types of Production functtbn
5) Carte! formatlon

a) Deﬁne pnce dlscrlmmatlon What are the various forms of price di scr;"nlnat]on?

PW ’i‘h’e prlce of wheat is given

“ (03)
(02)
(03)
(07)
(08)
(07)

(08)

(07)
(08)
(07)
(08)
(07)
(08)
(07)

(15)



